



CONVERGENCE OF AN ALGORITHM FOR THE SPLIT COMMON FIXED-POINT OF ASYMPTOMATIC QUASI-NONEXPANSIVE OPERATORS*

YAZHENG DANG, FANWEN MENG AND JIE SUN

This paper is dedicated to Professor Shu-Cherng Fang in celebration of his 60th birthday.

Abstract: An iteration method for finding the split common fixed-point of asymptomatic quasinonexpansive operators is analyzed. The new iteration generated by the algorithm is a weighted average of three intermediate points. Weak convergence results are established in a uniformly convex Banach space.

Key words: split common fixed-point problem, asymptomatic quasi-nonexpansive mapping, uniformly convex Banach space, weak convergence

Mathematics Subject Classification: 37C25, 47H09, 90C25

1 Introduction and Preliminaries

The fixed point problem is a classical problem in nonlinear analysis. It finds applications in a wide spectrum of fields such as economics, physics, and applied sciences. We are interested in the split common fixed-point problem (SCFP), which is a generalization of the split feasibility problem (SFP), and the latter is in turn a generalization of the convex feasibility problem (CFP), see [1, 2]. The CFP and SCFP have applications in many fields such as approximation theory [9], image reconstruction, radiation therapy [4, 12], and control [10].

Throughout this paper, we assume that E_1, E_2 are real Banach spaces, " \rightarrow " denotes weak convergence. Fix (T) is the fixed point set of an operator T, i.e., Fix $(T) := \{x \mid x = T(x)\}$, and I denotes the identity operator.

Let S be a nonempty closed convex subset of E_1 and $T: S \to S$ be a mapping. T is said to be nonexpansive if

$$||T(x) - T(y)|| \le ||x - y||, \forall x, y \in S.$$

^{*}This work was supported by National Science Foundation of China (under grant 11171221), National Science Foundation of Shanghai (under grant 14ZR1429200), Municipal Committee of Science and Technology (under grant XTKX2012), Innovation Program of Shanghai Municipal Education Commission (under grant 14YZ094), Doctoral Starting Project of the University of Shanghai for Science and Technology (under Grant ID-10-303-0027), Young Teacher Training Program of the University of Shanghai for Science and Technology, China Coal Industry Association Scientific and Technical Guidance Project (under grant MTKJ-2011-403), and the Provost's Chair Fund at School of Business, National University of Singapore.

T is said to be l_k -asymptotically nonexpansive if for all $x, y \in S$,

$$||T^k(x) - T^k(y)|| \le l_k ||x - y||, \forall k \ge 1,$$

where $T^k = T(T(...(T)))$ (k times), $\{l_k\} \subset [1, \infty)$ is a sequence satisfying $l_k \to 1$ as $k \to \infty$.

A mapping T is called quasi-nonexpansive if for all $x \in S, z \in Fix(T)$

$$||T(x) - z|| \le ||x - z||.$$

A mapping T is called l_k – quasi-asymptotically nonexpansive if for all $x \in S, z \in Fix(T)$,

$$||T^k(x) - z|| \le l_k ||x - z||, \forall k \ge 1,$$

where $\{l_k\} \subset [1, \infty)$ is a sequence satisfying $l_k \to 1$ as $k \to \infty$.

A mapping T is said to be uniformly L-Lipschitzian if there exists a constant L > 0 such that for all $x, y \in S$,

$$||T^k(x) - T^k(y)|| \le L||x - y||, \forall k \ge 1.$$

Clearly, a l_k -asymptotically nonexpansive mapping must be uniformly l_k — Lipschitzian as well as asymptotically quasi-nonexpansive but the converse may not hold.

The SFP in finite dimensional spaces was first introduced by Censor and Elfving [6] for modeling inverse problems. The SFP in an infinite-dimensional Hilbert space can be found in [8, 15, 16, 18]. The SCFP for a class of quasi-nonexpansive mappings in the setting of Hilbert space was first introduced and studied by Moudafi [13]. In this paper we discuss SCFP for asymptomatic quasi-nonexpansive mapping in uniformly convex Banach space. We propose a method for solving SCFP and prove its weak convergence. A notable feature of the method is that it generates an iterative sequence and each new iteration is a weighted average of three intermediate points generated from the last iteration.

The split common fixed point problem for asymptomatic quasi-nonexpansive operators is defined as follows.

Find
$$x^* \in C$$
 such that $Ax^* \in Q$, (1.1)

where $A: E_1 \to E_2$ is a bounded linear operator, $U: E_1 \to E_1$ and $T: E_2 \to E_2$ are two operators with nonempty fixed-point sets Fix(U) = C and Fix(T) = Q, respectively. We denote the solution set of the two-operator SCFP by

$$\Gamma = \{ y \in C \mid Ay \in Q \}. \tag{1.2}$$

To prove the convergence theorem in the next section, we first recall some results. Let E be a Banach space and let S be a nonempty bounded convex subset of E. E is said to have Opial property [14], if for any sequence $\{x^k\}$ in E, $x^k \rightharpoonup x^*$, then

$$\lim \inf_{k \to \infty} ||x^k - x^*|| < \lim \inf_{k \to \infty} ||x^k - y||, \forall y \in E \text{ with } y \neq x^*.$$
 (1.3)

A mapping $T: S \to E$ is called demi-closed with respect to $y \in E$ if for each sequence $\{x^k\}$ in S and each $x \in E, x^k \rightharpoonup x$ and $T(x^k) \to y$ imply that $x \in S$ and T(x) = y. The reader is referred to [7, 11] for a detailed discussion on the notion of demi-closed mappings. In what follows, only the particular case of demi-closedness at zero will be used, which is the particular case when y = 0.

Lemma 1.1. Let $T: S \to S$ be a l_k -quasi asymptotically nonexpansive mapping. Then, for any $z \in Fix(T)$ and $x \in S$:

(a).
$$\langle x - T^k(x), x - z \rangle \ge \frac{1}{2} \|x - T^k(x)\|^2 - \frac{l_k^2 - 1}{2} \|x - z\|^2$$
;

(b).
$$\langle x - T^k(x), z - T^k(x) \rangle \le \frac{1}{2} ||x - T^k(x)||^2 + \frac{l_k^2 - 1}{2} ||x - z||^2$$

Proof. Part (a). By the classical equality there holds

$$\langle x,y\rangle = \frac{1}{2}\|x\|^2 + \frac{1}{2}\|y\|^2 - \frac{1}{2}\|x-y\|^2,$$

and, from the fact that T is l_k -quasi asymptotically nonexpansive mapping, it follows that

$$\langle x - T^{k}(x), x - z \rangle = \frac{1}{2} \|x - T^{k}(x)\|^{2} + \|x - z\|^{2} - \frac{1}{2} \|T^{k}(x) - z\|^{2}$$

$$\geq \frac{1}{2} \|x - T^{k}(x)\|^{2} + \|x - z\|^{2} - \frac{l_{k}^{2}}{2} \|x - z\|^{2}$$

$$= \frac{1}{2} \|x - T^{k}(x)\|^{2} - \frac{l_{k}^{2} - 1}{2} \|x - z\|^{2}.$$

Part (b). From Part (a), we have

$$\begin{split} \langle x - T^k(x), z - T^k(x) \rangle &= \langle x - T^k(x), z - x + x T^k(x) \rangle \\ &= \langle x - T^k(x), z - x \rangle + \langle x - T^k(x), x - T^k(x) \rangle \\ &= -\langle x - T^k(x), z - x \rangle + \|x - T^k(x)\|^2 \\ &\leq \frac{1}{2} \|x - T^k(x)\|^2 + \frac{l_k^2 - 1}{2} \|x - z\|^2. \end{split}$$

This completes the proof.

Lemma 1.2 ([17]). Let E be a uniformly convex Banach space. Let $\{a_k\}, \{b_k\}$ and $\{c_k\}$ be three sequences in (0,1) satisfying $a_k + b_k + c_k = 1$ and $0 < \liminf_{k \to \infty} a_k < \liminf_{k \to \infty} (a_k + a_k)$ b_k) $\leq \limsup_{k\to\infty} (a_k + b_k) < 1$. Assume that $\{x^k\}, \{y^k\}$ and $\{z^k\}$ are three sequences in E. Then the conditions: $\limsup_{k\to\infty} \|x^k\| \le d$, $\limsup_{k\to\infty} \|y^k\| \le d$, $\limsup_{k\to\infty} \|z^k\| \le d$, and $\limsup_{k\to\infty} \|a_k x^k + b_k y^k + c_k z^k\| = d$ imply that $\lim_{k\to\infty} \|x^k - y^k\| = \lim_{k\to\infty} \|y^k - z^k\| = \lim_{k\to\infty} \|z^k - x^k\| = 0$, where d > 0 is some constant.

The Algorithm and Its Asymptotic Convergence

2.1 The Algorithm

We now describe the algorithm and prove its weak convergence.

Algorithm 2.1.

Initialization: Let $x^0 \in E_1$ be arbitrary. Iterative step: For $k \in N$, set $u^k = x^k + \gamma A^T(T^k - I)A(x^k)$, and let

$$x^{k+1} = a_k x^k + b_k u^k + c_k U^k(u^k), k \in N,$$
(2.1)

where $\{a_k\},\{b_k\}$ and $\{c_k\}$ are three sequences in (0,1) satisfying $a_k+b_k+c_k=1$ and $0 < a \le a_k, b_k, c_k \le b < 1, \ \gamma \in (0, \frac{1}{\lambda})$ with λ being the spectral radius of the operator $A^T A$. To prove its weak convergence we need the following proposition.

Proposition 2.2. Let E_2 be uniformly convex Banach space and let $T: E_2 \to E_2$ be a l_k -asymptotically quasi-nonexpansive mapping with $\{l_k\} \subset [1,\infty)$ such that $\sum_{k=1}^{\infty} (l_k-1) < \infty$. Then, u^k is a $\sqrt{(1+\gamma\lambda(l_k^2-1))}$ - asymptotically quasi-nonexpansive mapping.

Proof. By the definition of u^k , we have

$$\begin{split} \|u^k - z\|^2 &= \|x^k + \gamma A^T (T^k - I) (Ax^k) - z\|^2 \\ &= \|x^k - z\|^2 + \gamma^2 \|A^T (T^k - I) (Ax^k)\|^2 \\ &+ 2\gamma \langle x^k - z, A^T (T^k - I) (Ax^k) \rangle \\ &\leq \|x^k - z\|^2 + \lambda \gamma^2 \|(T^k - I) (Ax^k)\|^2 \\ &+ 2\gamma \langle Ax^k - Az, (T^k - I) (Ax^k) \rangle, \end{split}$$

that is

$$||u^k - z||^2 \le ||x^k - z||^2 + \lambda \gamma^2 ||(T^k - I)(Ax^k)||^2 + 2\gamma \langle Ax^k - Az, (T^k - I)(Ax^k) \rangle.$$
 (2.2)

Now, by setting $\theta := 2\gamma \langle Ax^k - Az, (T^k - I)(Ax^k) \rangle$ and using Part (b) of Lemma 1.1, we obtain

$$\begin{array}{lll} \theta & = & 2\gamma\langle Ax^k - Az, (T^k - I)(Ax^k)\rangle \\ & = & 2\gamma\langle Ax^k - Az + (T^k - I)(Ax^k) - (T^k - I)(Ax^k), (T^k - I)(Ax^k)\rangle \\ & = & 2\gamma(\langle T^k(Ax^k) - Az, (T^k - I)(Ax^k)\rangle - \|(T - I)(Ax^k)\|^2) \\ & \leq & 2\gamma(\frac{1}{2}\|(T^k - I)(Ax^k)\|^2 + \frac{l_k^2 - 1}{2}\|Ax^k - Az\|^2 - \|(T^k - I)(Ax^k)\|^2) \\ & = & -\gamma\|(T^k - I)(Ax^k)\|^2 + \gamma\lambda(l_k^2 - 1)\|x^k - z\|^2. \end{array}$$

Combined with (2.2), it yields

$$||u^{k} - z||^{2} \le (1 + \gamma \lambda (l_{k}^{2} - 1))||x^{k} - z||^{2} - \gamma (1 - \lambda \gamma)||(T^{k} - I)(Ax^{k})||^{2}.$$
(2.3)

By $\gamma \in (0, \frac{1}{\lambda})$, (2.3) implies that

$$||u^k - z|| \le \sqrt{(1 + \gamma \lambda (l_k^2 - 1))} ||x^k - z||.$$
 (2.4)

Since $\{l_k\} \subset [1,\infty)$ and $\sum_{k=1}^{\infty} (l_k-1) < \infty$, it is easy to deduce that $\{\sqrt{(1+\gamma\lambda(l_k^2-1))}\}\subset [1,\infty)$ and $\sqrt{(1+\gamma\lambda(l_k^2-1))} \to 1$. Therefore, u^k is a $\sqrt{(1+\gamma\lambda(l_k^2-1))}$ - asymptotically quasi-nonexpansive mapping.

2.2 Convergence of the Algorithm

In this subsection, we establish the weak convergence of Algorithm 2.1.

We first prove a lemma which is an important part of the proof of weak convergence theorem.

Lemma 2.3. Given a bounded linear operator $A: E_1 \to E_2$, E_1 and E_2 are two uniformly convex Banach spaces, let $U: E_1 \to E_1$ and $T: E_2 \to E_2$ be two uniformly L-Lipschitzian and l_k -asymptotically quasi-nonexpansive mappings with $\{l_k\} \subset [1,\infty)$ such that $l_k \to 1$ and $\sum_{k\to\infty} (\sqrt{1+\gamma\lambda(l_k^2-1)}-1) < \infty$, Fix $(U)=C\neq\emptyset$ and Fix $(T)=Q\neq\emptyset$. Let $\{x^k\}$ be any sequence generated by Algorithm 2.1. Then $\lim_{k\to\infty} \|x^k-z\|$ exists and $\{\|u^k-z\|\}$ is bounded for each $z\in\Gamma$ provided that $\Gamma\neq\emptyset$.

Proof. From (2.1), by Proposition 2.2, we obtain

$$||x^{k+1} - z|| = ||a_k(x^k - z) + b_k(u^k - z) + c_k(U^k(u^k) - z)||$$

$$\leq a_k||x^k - z|| + b_k||u^k - z|| + (l_k c_k)||u^k - z||$$

$$= (a_k + (b_k + l_k c_k)\sqrt{(1 + \gamma\lambda(l_k^2 - 1))}||x^k - z||.$$

Setting $v_k = a_k + (b_k + l_k c_k) \sqrt{(1 + \gamma \lambda (l_k^2 - 1))}$, the above inequality takes the shape

$$||x^{k+1} - z|| \le v_k ||x^k - z||$$
, for all $k \in N$.

By induction, we have

$$||x^{k+m} - z|| \le (\prod_{i=k}^{k+m-1} v_i) ||x^k - z|| \text{ for all } k, m \in \mathbb{N}.$$

Note that

$$v_k - 1 = a_k + (b_k + l_k c_k) \sqrt{1 + \gamma \lambda (l_k^2 - 1)} - a_k - b_k - c_k$$
$$= (\sqrt{1 + \gamma \lambda (l_k^2 - 1)} - 1)b_k + (\sqrt{l_k (1 + \gamma \lambda (l_k^2 - 1)} - 1)c_k,$$

Since $\sum_{k\to\infty} (\sqrt{1+\gamma\lambda(l_k^2-1)}-1) < \infty$, it is easy to get

$$\sum_{k\to\infty} l_k(\sqrt{(1+\gamma\lambda(l_k^2-1)}-1)<\infty.$$

Hence,

$$\sum_{k=1}^{\infty} (v_k - 1) < \infty,$$

furthermore

$$\lim_{k \to \infty} \prod_{i=k}^{\infty} v_i = 1.$$

Therefore, $\lim_{k\to\infty} ||x^k-z||$ exists. From (2.4), we obtain that $\{u^k-z\}$ is bounded.

Theorem 2.4. Given a bounded linear operator $A: E_1 \to E_2$, E_1 and E_2 are two uniformly convex Banach spaces, let $U: E_1 \to E_1$ and $T: E_2 \to E_2$ be two uniformly L-Lipschitzian and l_k -asymptotically quasi- nonexpansive mappings with $\{l_k\} \subset [1,\infty)$ such that $\sum_{k=1}^{\infty} (l_k - 1) < \infty$, Fix $(U) = C \neq \emptyset$, Fix $(T) = Q \neq \emptyset$. Assume that U - I and T - I are demi-closed at 0 and $\Gamma \neq \emptyset$. Then, any sequence $\{x^k\}$ generated by Algorithm 2.1 converges weakly to a point $x^* \in \Gamma$.

Proof. We first prove that $\lim_{k\to\infty}\|U^k(u^k)-u^k\|=\lim_{k\to\infty}\|T^k(Ax^k)-Ax^k\|=0$. Let $\lim_{k\to\infty}\|x^k-z\|=c$ where $c\geq 0$ is a real number. If c=0, the result is obvious. Assume c>0,

$$c = \lim_{k \to \infty} ||a_k(x^k - z) + b_k(u^k - z) + c_k(U^k(u^k) - z)||.$$
 (2.5)

Since $||U^k(u^k) - z|| \le l_k ||u^k - z||$, therefore

$$\lim \sup_{k \to \infty} ||U^k(u^k) - z)|| \le c. \tag{2.6}$$

Applying Lemma 1.2 on (2.5) and (2.6), we obtain

$$\lim_{k \to \infty} ||U^k(u^k) - u^k|| = 0, \tag{2.7}$$

$$\lim_{k \to \infty} ||U^k(u^k) - x^k|| = 0 \tag{2.8}$$

and

$$\lim_{k \to \infty} ||u^k - x^k|| = 0. (2.9)$$

Let $M = \max\{||x^k - z||, ||u^k - z||\}$. From (2.3), we have

$$\begin{split} \gamma(1-\lambda\gamma)\|(T^k-I)(Ax^k)\|^2 &\leq (1+\gamma\lambda(l_k^2-1))\|x^k-z\|^2 - \|u^k-z\|^2 \\ &= \|x^k-z\|^2 - \|u^k-z\|^2 + \gamma\lambda(l_k^2-1))\|x^k-z\|^2 \\ &\leq M\|x^k-u^k\| + \gamma\lambda(l_k^2-1))\|x^k-z\|^2 \to 0. \end{split}$$

Hence

$$\lim_{k \to \infty} ||T^k(Ax^k) - Ax^k|| = 0.$$
(2.10)

Now, we prove that $\lim_{k\to\infty} \|x^{k+1} - x^k\| = 0$ and $\lim_{k\to\infty} \|u^{k+1} - u^k\| = 0$. As a matter of fact, it follows from (2.1) that

$$||x^{k+1} - x^k|| = ||a_k x^k + b_k u^k + c_k U(u^k) - (a_k + b_k + c_k) x^k||$$

$$\leq b_k ||u^k - x^k|| + c_k ||U(u^k) - x^k||$$

$$\leq b||u^k - x^k|| + c||U(u^k) - x^k||.$$

In view of (2.8) and (2.9), we have that

$$\lim_{k \to \infty} \|x^{k+1} - x^k\| = 0. \tag{2.11}$$

Similarly, it follows from (2.1), (2.10) and (2.11) that

$$||u^{k+1} - u^k|| = ||(x^{k+1} + \gamma A^T (T^{k+1} - I) A x^{k+1}) - (x^k + \gamma A^T (T^k - I) A x^k)||$$

$$\leq ||x^{k+1} - x^k|| + \gamma ||A^T (T^{k+1} - I) A x^{k+1}|| + \gamma ||A^T (T^k - I) A x^k|| \to 0, (k \to \infty).$$
(2.12)

Next, we prove that $\lim_{k\to\infty} \|Ax^k - T(Ax^k)\| = 0$ and $\lim_{k\to\infty} \|u^k - U(u^k)\| = 0$. Setting $\eta_k := \|u^k - U^k(u^k)\|$, since U is uniformly-L-Lipschitzian continuous, it follows from (2.4), (2.7) and (2.12) that

$$||u^{k} - U(u^{k})|| \leq ||u^{k} - U^{k}(u^{k})|| + ||U^{k}(u^{k}) - U(u^{k})||$$

$$\leq \eta_{k} + L||U^{k-1}(u^{k}) - u^{k}||$$

$$\leq \eta_{k} + L(||U^{k-1}(u^{k}) - U^{k-1}(u^{k-1})|| + ||U^{k-1}(u^{k-1}) - u^{k}||)$$

$$\leq \eta_{k} + L^{2}(||u^{k} - u^{k-1}|| + L(||U^{k-1}(u^{k-1}) - u^{k-1}|| + ||u^{k-1} - u^{k}||)$$

$$\leq \eta_{k} + L(L+1)||u^{k} - u^{k-1}|| + L\eta_{k-1} \to 0, (k \to \infty). \tag{2.13}$$

Similarly, we have

$$\lim_{k \to \infty} ||Ax^k - T(Ax^k)|| = 0.$$
 (2.14)

Finally, we prove that $x^k \to x^*$ and $u^k \to x^*$, where $x^* \in \Gamma$. Since $\{u^k\}$ is bounded, let $v = 0, 1, 2 \cdots$ be the sequence of indices, such that $w - \lim_v u^{k_v} = x^*$. From (2.13), we have $\lim_{v \to \infty} \|u^{k_v} - U(u^{k_v})\| = 0$. Since U is demi-closed at zero, we know that $x^* \in \text{Fix}(U)$. Moreover, it follows from (2.1) and (2.10) that

$$x^{k_v} = u(x^{k_v}) - \gamma A^T (T^{k_v} - I) A x^{k_v} \rightharpoonup x^*.$$

Since A is linear bounded operator, it gets $Ax^{k_v} \rightharpoonup Ax^*$. In view of (2.14) we have $\lim_{v\to\infty} \|Ax^{k_v} - T(Ax^{k_v})\| = 0$. Again since T is demi-closed at zero, we know that $Ax^* \in \operatorname{Fix}(T)$. This implies that $x^* \in \Gamma$.

Assume that there exists another subsequence $\{u^{k_w}\}$ of $\{u^k\}$ such that $\{u^{k_w}\}$ converges weakly to a point $y^* \in H$ with $y^* \neq x^*$. Using the same argument above, we know that $y^* \in \Gamma$. Since each uniformly convex Banach space possesses Opial property, we have

$$\begin{split} \liminf_{v \to \infty} \|u^{k_v} - x^*\| &< \liminf_{v \to \infty} \|u^{k_v} - y^*\| = \liminf_{k \to \infty} \|u^k - y^*\| \\ &= \liminf_{v \to \infty} \|u^{k_w} - y^*\| < \liminf_{w \to \infty} \|u^{k_w} - x^*\| \\ &= \liminf_{k \to \infty} \|u^k - x^*\| = \liminf_{v \to \infty} \|u^{k_v} - x^*\|, \end{split}$$

which is a contradiction. This implies that $\{u^k\}$ converges weakly to the point $x^* \in \Gamma$. Since $x^k = u(x^k) - \gamma A^T(T^k - I)Ax^k$, we know that $\{x^k\}$ converges weakly to $x^* \in \Gamma$. The proof is completed.

References

- [1] H. Ben-El-Mechaiekh, S. Chebbi, M. Florenzanoc, and J.-V. Llinares, Abstract convexity and fixed points, *J. Math. Anal. Appl.* 222 (1998) 138–150.
- [2] C. Byrne, Iterative oblique projection onto convex sets and the split feasibility problem, *Inverse Problems* 18 (2002) 441–453.
- [3] C. Byrne, An unified treatment of some iterative algorithm algorithms in signal processing and image reconstruction, *Inverse Problems*, 20 (2004) 103–120.
- [4] Y. Censor, Parallel application of block iterative methods in medical imaging and radiation therapy, *Math. Program.* 42 (1998) 307–325.
- [5] Y. Censor, T. Bortfeld, B. Martin and A. Trofimov, A unified approach for inversion problem in intensity-modulated radiation therapy, *Phys Med Biol.* 51 (2006) 2353–2365.
- [6] Y. Censo and T. Elfving, A multiprojection algorithm using Bregman projections in a product space, *Numer. Algorithms* 8 (1994) 221–239.
- [7] S.S. Chang, Y.J. Cho and H. Zhou, Demi-closed principle and weak convergence problems for asymptotically nonexpansive mappings, J. Korean Math. Soc. 38 (2001) 1245– 1260.
- [8] Y. Dang and Y. Gao, The strong convergence of a KM-CQ-Like algorithm for split feasibility problem, *Inverse Problems* 27 (2011) doi:10.1088/0266-5611/27/1/015007.
- [9] F. Deutsch, The method of alternating orthogonal projections, *Approximation Theory*, *Spline Functions and Applications*, Kluwer Academic Publishers, Dordrecht, 1992, pp. 105–121.

- [10] Y. Gao, Determining the viability for a affine nonlinear control system (in Chinese), J. Control Theory Appl., 29 (2009) 654–656.
- [11] J.R. Giles, Classes of semi-inner-product spaces, *Trans. Amer. Math. Soc.* 129 (1967) 436–446.
- [12] G.T. Herman, Image Reconstruction From Projections: The Fundamentals of Computerized Tomography, Academic Press, New York, 1980.
- [13] A. Moudaf, A note on the split common fixed-point problem for quasi-nonexpansive operators, *Nonlinear Anal. Theory, Meth. Appl.* 74 (2011) 4083–4087.
- [14] Z. Opial, Weak convergence of the sequence of successive approximations for nonexpansive mappings, *Bull. Amer. Math. Soc.* 73 (1967) 591–597.
- [15] H.-K. Xu, A variable Krasnoselskii-Mann algorithm and the multiple-sets split feasibility problem, *Inverse Problems* 22 (2006) 2021–2034.
- [16] Q. Yang, The relaxed CQ algorithm solving the split feasibility problem, *Inverse Problems* 20 (2004) 1261–1266.
- [17] Y. Yao and M. A. Noor, Convergence of three-step iterations for asymptotically non-expansive mappings, *Appl. Math. Comput.* 187 (2007) 883–892.
- [18] J. Zhao and Q. Yang, Several solution methods for the split feasibility problem, *Inverse Problems* 21 (2005) 1791–1799.

Manuscript received 1 December 2013 revised 18 March 2014 accepted for publication 15 April 2014

Yazheng Dang

School of Management, University of Shanghai for Science and Technology 200093, Shanghai, People's Republic of China

E-mail address: jgdyz@163.com

FANWEN MENG

National Healthcare Group, Singapore E-mail address: fanwen_meng@nhg.com.sg

JIE SUN

National University of Singapore and Curtin University, Australia

E-mail address: sun.curtin@gmail.com